OFFICE OF THE PANCHAYAT SAMITI RASGOVINDPUR

ପଞ୍ଚାୟତ ସମିତି କାର୍ଯ୍ୟାଳୟ, ରାସଗୋବିନ୍ଦପୁର ଓଡିଶା ଖଣିଜ ବାହ୍ୟ ଅଞ୍ଚଳ ଉନ୍ନୟନ ନିଗମ

Block Development Officer Rasgobindpur





GOVERNMENT OF ODISHA

PANCHAYATI RAJ & DRINKING WATER DEPARTMENT

DETAILED TENDER CALL NOTICE FOR THE WORK : Construction of New Model AWC Building at Baunsatofa-2 under Kamardiha G.P.

PANCHAYAT SAMITI; RASGOBINDPUR.

Page | 1 BØC

Contractor

OFFICE OF THE PANCHAYAT SAMITI ,RASGOBINDPUR,DIST-MAYURBHANJ

No.1909

Date:-11.06.2021

TENDER CALL NOTICE

ANNEXURE- 'A'

The Block Devlopment Officer, Rasgobindpur on behalf of Goverment of Odisha invites sealed tender on percentage (%) rate basis from registered contractors of Odisha PWD/WR/RWD/NH/MI/CPWD for thefollowing work in conformity with the detail tender call notice.

SI No	Name of G.P	Name of Work	Name of Scheme	Estimated amount put to tender (In Rs).	EMD to be deposited (In Rs)	Cost of Tender Paper (In Rs)	Class of Contractors	Period of Completion
1	Nakichua	Const. of New Model AWC Building at Raisole under Nakichua GP	OMBADC			5000+900	"C" & "D"	3 Months
2	Sarumola	Const. of New Model AWC Building at Sarumola-2 under Sarumola GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
3	Devsole	Const. of New Model AWC Building at Devsole-2 under Devsole GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
4	Kamardiha	Const. of New Model AWC Building at Baunstofa under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
5	Kamardiha	Const. of New Model AWC Building at Uperpurunapani under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months

Terms & Conditions

- 1 The tender paper can be obtained from website www.mayurbhanj.nic. & in the Block Devlopment Officer Rasgobindpur on payment of Cost of the tender paper (non refundable)and GST in shape of A/C Payee Demand Draft respectively
- 2 The tender paper will be sold from date 11.06.2021 to 01.07.2021 on working days only from 11.00 AM to 4.00 PM in the Office of The Panchyat Samiti,Rasgovindpur
- 3 The sealed tender paper will be received on working days till 1.00 PM of date 01.07.2021. The same should be submitted either through registered /speed post addressing to The BDO, Rasgobindpur or same may be dropped in the tender box kept in the Block office Rasgobindpur during working hour. The sealed envelope shall be superscribed as "Tender Paper" and mention the name of the work on the envelop with name of the bidder clearly. The undersigned will not be held responsible for any delay in the postal service
- 4 The tender paper will be opened at 03 PM on 01.07.2021 in presence of the bidders or their authorised representatives and Block tender comittee.
- 5 The EMD is to be deposited in shape of NSC/KVP/POTD/deposit of any Nationalise Bank duly pledged in favour of the Block Devlopment Officer. Rasgobindpur.
- 6 The following documents should be furnished along with the tender paper failing which the tender is liable, for rejection.
 - a. EMD duly pledged in favour of the BDO, Rasgobindpur.
 - b. Attested copy of the Contractor registration certificate.
 - c. Attested copy of PAN CARD
 - d .Attested copy of labour licence
 - e. Attested copy of GST Clearence certificate for th year 2020-21
 - f. Money receipt of DTCN (Tender Paper) shall be enclosed in original.
 - g. Attested copy of Caste certificate for SC/ST Contractor desirous of availling preference.

KTO

. Ju

h.The Engineering Contractor desirous of availling exemption of EMD should submit an affidavit to the effect that he has not availed exemption of EMD facility more than three times in the current Financial Year

- The Schedule caste/Schedule Tribe/Physically challanged Contractors desirous to avail the exemption of EMD and price/preference (as applicable) ,should mention this in the Affidavit
- 8 If the less rate quoted by the tenderer is more than 10% and within 15% the additional performance security is to be deposited in shape of NSC/KVP/Bank Draft /banker Cheque which are duly pledged in favour of The BDO,Rasgobindpur at the time of dropping of tender paper as per revised codal provision i.e.Amended 2013(Vide O M.12366/W,dated 08/11/2013)of OPWD code modified vide office Memorandum No 5288/W,dated 04/05/2016 of The Govt. in Works Department.
- 9 The EMD amount will be forfeited if the Tenderer backs out from the offer of acceptance of Tender by the Competent authority
- 10 The bidder has to produce all required original documents at the time of opening of the tender for verification.
- 11 The Contractor must have executed similar nature of works and financial turn over in last three years. The tenderers are required to submit the list of T&P possessed, list of works executed and successfully completed the Civil works during last three years. The above information should be certified by the concerned authority not below the rank of BDO/Executive Engineer.
- 12 An affidavit in support of the authority of document including no relation certificate and detail work programe should be attached with the tender paper.
- 13 If the rate quoted byThe Tenderers is found to be same. Tender Comittee will decide the Tender
- 14 Excess bid amount quoted by the bidder ,if any in respect of any work shall not be accepted.
- 15 Any less rate quoted by the tenderer shall be deposited in shape of NSC/KVP/Bank Draft/Bankers Cheque which are duly pledged in favaour of BDO Rasgovindpur at the time of dropping of the Tender Paper
- 16 The authority deserves all right to reject or cancel any or all Tender without assigning any reason thereof.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1910 / Dt-11.06.2021

Copy submitted to the Collector & District Magistrate Mayurbhanj / Project Director ,DRDA,Mayurbhanj for favour of kind information and necessary action.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1911 / Dt-11 06.2021

Copy submitted to the Sub-Collector. Baripada,/Kaptipada Udala/Panchpir Karanjia/Bamanghaty Rairangpur/ P.A. ITDA . Baripada/ Udala/Karanjia/Rairangpur /Tahasildar, Rasgobindpur / C.D.P.O. Rasgobindpur for information with request to display the tender notice in their notice logard for wide circulation.

> Block Devlopment Officer Rasgobindpur Block

Memo No-1912 / Dt-11.06.2021 Copy to Office Notice Board for information of all concerned. Copy to press for wide publication.

Block Devlopment Officer Rasgobindpur Block

BILL OF QUANTITY

1	BILL O	F QUANTI	ſY			
Nam	e of Work:			Const. of N Baunstofa-	ew Model AWC at 2 under Kamardlh	a G.P.
SI. No	Description of items	Unit	Quantity	Rate		Amount
1	2	3	4	5		6
1	Earthwork in excavation in hard soll or gravelly soil except sheet rock requiring blasting to proper profile with all leads, lifts and delifts to proper section and required depth and masking it flt for laying concrete and depositing the excavated materials away from the work site with all leads and lifts including dewatering if necessary from foundation complete as directed by Engineer-in- charge.	One Cubic Meter	87.7	176.83	RUPEES ONE HUNDRED SEVENTY SIX AND EIGHTY THREE ONLY	15507.991
2	Filling in foundation and plinth with sand, watered and rammed including cost, conveyance &royality of materials with labour and T&P required for the work	One Cubic Meter	42.42	315.79	RUPEES THREE HUNDRED FIFTEENAND SEVENTY NINE PAISE ONLY	13395.812
3	Cement concrete of proportion (1:3:6) with 40mm & down graded size hand broken H.G. metal for foundation concrete approved quarry including hoisting, lowering & laying concrete to the required level ramming, watering , curing etc. complete including cost, conveyance & royality of materials with labour charges etc. compete in all respect.	One Cubic Meter	21	4232.1	RUPEES FOUR THOUSAND TWO HUNDRED THIRTY TWO AND TEN PAISE ONLY	88874.1
4	Brick work with Fly Ash Bricks in cement mortar (1:6) in F&P of size 9"x5"x3" having crushing strength not less than 70 kg/cm sq. with dimensional tolerance± 8 percent including splays cutting circular moulding chamfering and corbelling and similar such type of works with al necessary projections watering and curring after immersing the bricks in water at least for six hours before use including cost, conveyance &royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	15.76	4068.4	RUPEES FOUR THOUSAND SIXTY EIGHT AND FOURTY PAISE ONLY	64117.984

Contractor

BÓÒ

ł.

5	Brick work with Fly Ash Bricks in cement mortar (1:6) in Superstructure of size 9"x5"x3" having crushing strength not less than 75 kg/cm sq. with dimensional tolerance ± 8 percent including splays cutting circular moulding chamfering and corbelling and similar such type of works with all necessary projections watering and curring after immersing the bricks in water at least for six hours before use including cost, conveyance &royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	60.34	4106.3	RUPEES FOUR THOUSAND ONE HUNDRED SIX AND THIRTY PAISE ONLY	247774.14
6	RCC M-20 work with cement concrete with crushed granite 20mm down grade course aggregate of approved quality mixing by concrete mixer including hoisting, lowering and laying the concrete in position to proper slope and level and compacting by vibrator in layers not exceeding 0.1Sm depth including watering, curing for required period 28 days, centering& shuttering and finishing exposed surface smooth providing grooves wherever necessary including cost, conveyance, royality& other taxes of all materials labour, T&P materials required for this item including hier& running charges of the machinaries complete as directed by the Engineer-in-charge.	One Cubic Meter				
а	Column Base	One Cubic Meter	12.82	4739.7	RUPEES FOUR THOUSAND SEVEN HUNDRED THIRTY NINE AND SEVENTY PAISE ONLY	60762.954
Ь	Column in Superstructure	One Cubic Meter	5.69	10137.1	RUPEES TEN THOUSAND ONE HUNDRED THIRTY SEVEN AND TEN PAISE	57679.985
	Plinth Beam	One Cubic Meter	9.31	4864.6	RUPEES FOUR THOUSAND EIGHT HUNDRED SIXTY FOUR AND SIXTY PAISE ONLY	45289.612
4	Beam	One Cubic Meter	3.07	10137.1	RUPEES TEN THOUSAND ONE HUNDRED THIRTY SEVEN AND TEN PAISE	31120.836

		ſ		1	RUPEES EIGHT	
e	Lintel Band	One Cubic Meter	2.7	8070.6	RUPEES EIGHT THOUSAND SENVENTY AND SIXTY PAISE ONLY	21790.72
f	Chajja	One Cubic Meter	17.84	732.44	RUPEES SEVEN HUNDRED THIRTY TWO AND FOURTY FOUR PAISE ONLY	13066.73
	Slab	One Cubic Meter	10.97	8643.2	RUPEES EIGHT THOUSAND SIX HUNDRED FOURTY THREE AND TWENTY PAISE ONLY	94816.123
<u>g</u> 7	Straightening bent up or coild M.S. rod or HYSD (Fe-415), cutting, bending, cracking, hooking, welding or jointing (if required), the M.S. rod or HYSD steel & binding, tying the grills, hoisting, lowering & placing in proper position as required for RCC works including cost, conveyance and taxes of M.S. rod or HYSD steel & binding wires of 18 to 20 gauge & labour charges required for the	One Quintal	30.74	6175.8	RUPEES SIX THOUSAND ONE HUNDRED SEVENTY FIVE AND EIGHTY PAISE ONLY	189844.71
8	16mm (5/8") thick cement plaster (1:6) finishing smooth to inside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveyance, royalities& taxes of all materials & cost all labour	One Square Meter	318.2	183.4	RUPEES ONE HUNDRED EIGHTY THREE AND FOURTY PAISE ONLY	58357.88
9	12mm thick cement plaster (1:6) finishing smooth to outside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveyance, royality & taxes of all materials & cost of all labour charges required for the work etc. complete.	One Square Meter	323.7	128.4	RUPEES ONE HUNDRED TWENTY EIGHT AND FOURTY PAISE ONLY	41564.364
10	6mm thick cement plaster in cement mortar (1:4) to RCC surface finished smooth including deep chipping &slurry treatment including punning	One Square Meter	104.3	144.2	RUPEES ONE HUNDRED FOURTY FOUR AND TWENTY PAISE ONLY	15038.618

ş

11	2.5 cm artificial stone flooring with cement concrete (1:2:4) including punning using 12mm size hand broken granites chips.	One Square Meter	65.89	288.9	RUPEES TWO HUNDRED EIGHTY EIGHT AND NINTY PAISE ONLY	19035.62
12	Fixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	6.91	1051.2	RUPEES ONE THOUSAND FIFTY ONE AND TWENTY PAISE ONLY	7263.792
13	Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	25.89	677.2	RUPEES SIX HUNDRED SEVENTY SEVEN AND TWENTY PAISE ONY	17532.70
14	Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 14SWG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the work.	One Kilogram	1196	86.3	RUPEES EIGHTY SIX AND THIRTY PAISE ONLY	103232.06
15	Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all labour charges	One Square Meter	61.03	180	RUPEES ONE HUNDRED EIGHTY ONLY	10985.4
16	Finishing walls with water proofing cement painting to exterior surface of wall with approved shade with two coats to give an even shade including cost of paint & cost of all labour with T&P.	One Square Meter	150.5	31.4	RUPEES THIRTY ONE AND FOURTY PAISE ONLY	4726.01

BDO

and the second se

		No. of Building	1	10000	RUPEES TEN THOUSAND ONLY	10000
17	Provision of Sanitary works.					
		No. of Building	1			31690
18	Electification					
19	Wall painting & Play Equipment					42593
	GST 12% as Admissable					1306061.2
	(Total Item -19 only)				Total	

Block Development Officer, Rasgobindpur

My / our quoted rate is ____

% (both in fig and words)

excess over / less than / equal to the above estimated cost.

NOTES :

1. The Contractor should not write any thing excepting quoting of percentage & in case anything else regarding

2. Strike out which is not applicable

3. Percentage should be quoted up to 2 (two) digits after the decimal point.

4. Rate of all items are inclusive of cost, carriage, royality& other taxes of material.

Tenderer

No. of Correction :
No. of over writing :
No. of interpolation :

ſ



GOVERNMENT OF ODISHA

PANCHAYATI RAJ & DRINKING WATER DEPARTMENT

DETAILED TENDER CALL NOTICE FOR THE WORK : Construction of New Model AWC Building at Uparpurunapani under Kamardiha G.P.

PANCHAYAT SAMITI; RASGOBINDPUR.

٦

OFFICE OF THE PANCHAYAT SAMITI ,RASGOBINDPUR,DIST-MAYURBHANJ

No.1909

Date:-11.06.2021

TENDER CALL NOTICE

ANNEXURE- 'A'

The Block Devlopment Officer, Rasgobindpur on behalf of Goverment of Odisha invites sealed tender on percentage (%) rate basis from registered contractors of Odisha PWD/WR/RWD/NH/MI/CPWD for thefollowing work in conformity with the detail tender call notice.

SI No	Name of G.P	Name of Work	Name of Scheme	Estimated amount put to tender (In Rs).	EMD to be deposited (In Rs)	Cost of Tender Paper (In Rs)	Class of Contractors	Period of Completion
1	Nakichua	Const. of New Model AWC Building at Raisole under Nakichua GP	OMBADC	1334503.00		5000+900	"C" & "D"	3 Months
2	Sarumola	Const. of New Model AWC Building at Sarumola-2 under Sarumola GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
3	Devsole	Const. of New Model AWC Building at Devsole-2 under Devsole GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
4	Kamardiha	Const. of New Model AWC Building at Baunstofa under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
5	Kamardiha	Const. of New Model AWC Building at Uperpurunapani under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months

Terms & Conditions

- 1 The tender paper can be obtained from website www.mayurbhanj.nic. & in the Block Devlopment Officer Rasgobindpur on payment of Cost of the tender paper (non refundable)and GST in shape of A/C Payee Demand Draft respectively
- 2 The tender paper will be sold from date 11.06.2021 to 01.07.2021 on working days only from 11.00 AM to 4.00 PM in the Office of The Panchyat Samiti,Rasgovindpur.
- 3 The sealed tender paper will be received on working days till 1.00 PM of date 01.07.2021 The same should be submitted either through registered /speed post addressing to The BDO, Rasgobindpur or same may be dropped in the tender box kept in the Block office Rasgobindpur during working hour. The sealed envelope shall be superscribed as "Tender Paper" and mention the name of the work on the envelop with name of the bidder clearly. The undersigned will not be held responsible for any delay in the postal service.
- 4 The tender paper will be opened at 03 PM on 01.07.2021 in presence of the bidders or their authorised representatives and Block tender comittee.
- 5 The EMD is to be deposited in shape of NSC/KVP/POTD/deposit of any Nationalise Bank duly pledged in favour of the Block Devlopment Officer Rasgobindpur.
- 6 The following documents should be furnished along with the tender paper failing which the tender is liable for rejection.
 - a. EMD duly pledged in favour of the BDO, Rasgobindpur.
 - b. Attested copy of the Contractor registration certificate.
 - c. Attested copy of PAN CARD.
 - d .Attested copy of labour licence
 - e. Attested copy of GST Clearence certificate for th year 2020-21.
 - f. Money receipt of DTCN (Tender Paper) shall be enclosed in original.
 - g. Attested copy of Caste certificate for SC/ST Contractor desirous of availling preference.

KTO

h.The Engineering Contractor desirous of availling exemption of EMD should submit an affidavit to the effect that he has not availed exemption of EMD facility more than three times in the current Financial Your.

The Schedule caste/Schedule Tribe/Physically challanged Contractors desirous to avail the exemption of EMD and price (preference (as applicable), should mention this in the Affidavit.

- 8 If the less rate quoted by the tenderer is more than 10% and within 15% the additional performance security is to be deposited in shape of NSC/KVP/Bank Draft /banker Cheque which are duly pledged in favour of The BDO,Rasgobindpur at the time of dropping of tender paper as per revised codal provision i.e. Amended 2013(Vide O.M.12366/W,dated 08/11/2013)of OPWD code modified vide office Memorandum No. 5288/W,dated 04/05/2016 of The Govt. in Works Department.
- 9 The EMD amount will be forfeited if the Tenderer backs out from the offer of acceptance of Tender by the Competent authority
- 10 The bidder has to produce all required original documents at the time of opening of the tender for verification.
- 11 The Contractor must have executed similar nature of works and financial turn over in last three years. The tenderers are required to submit the list of T&P possessed, list of works executed and successfully completed the Civil works during last three years. The above information should be certified by the concerned authority not below the rank of BDO/Executive Engineer.
- 12 An affidavit in support of the authority of document including no relation certificate and detail work programe should be attached with the tender paper.
- 13 If the rate quoted byThe Tenderers is found to be same. Tender Comittee will decide the Tender.
- 14 Excess bid amount quoted by the bidder ,if any, in respect of any work shall not be accepted.
- 15 Any less rate quoted by the tenderer shall be deposited in shape of NSC/KVP/Bank Draft/Bankers Cheque which are duly pledged in favaour of BDO Rasgovindpur at the time of dropping of the Tender Paper
- 16 The authority deserves all right to reject or cancel any or all Tender without assigning any reason thereof.

Block Devlopmeht Officer Rasgobindpur Block

Memo No- 1910 / Dt-11 06.2021

Copy submitted to the Collector & District Magistrate. Mayurbhanj / Project Director ,DRDA,Mayurbhanj for favour of kind information and necessary action.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1911 / Dt-11.06.2021

Copy submitted to the Sub-Collector, Baripada,/Kaptipada Udala/Panchpir Karanjia/Bamanghaty Rairangpur/ P.A. ITDA Baripada/ Udala/Karanjia/Rairangpur /Tahasildar, Rasgobindpur / C.D.P.O. Rasgobindpur for information with request to display the tender notice in their notice board for wide circulation.

> Block Devlopment Officer Rasgobindpur Block

Memo No- 1912 / Dt-11.06.2021

Copy to Office Notice Board for information of all concerned. Copy to press for wide publication.

Block Devlopment Officer Rasgobindpur Block

BILL OF QUANTITY

Name of Work:

and the second second

Const. of New Model AWC at Uparpurunapani under Kamardiha, 7 G.P.

				0.1.		
51. No	Description of items	Unit	Quantity	Rate		Amount
1	2	3	4	5		6
1	Earthwork in excavation in hard soll or gravelly soll except sheet rock requiring blasting to proper profile with all leads, lifts and delifts to proper section and required depth and masking it fit for laying concrete and depositig the excavated materials away from the work site with all leads and lifts including dewatering if necessary from foundation complete as derected by Engineer-in-charge.	One Cublc Meter	87.7	176.83	RUPEES ONE HUNDRED SEVENTY SIX AND EIGHTY THREE PAISE ONLY	15507.99
2	Filling in foundation and plinth with sand, watered and rammed including cost, conveyance & royality of materials with labour and T&P required for the work	One Cubic Meter	42.42	315.79	RUPEES THREE HUNDRED FIFTEENAND SEVENTY NINE PAISE ONLY	13395.81
З	Cement concrete of proportion (1:3:6) with 40mm & down graded size hand broken H.G. metal for foundation concrete approved quarry including hoisting, lowering & laying concrete to the required level ramming, watering, curing etc. complete including cost, conveyance & royality of materials with labour charges etc. compete in all respect.	One Cubic Meter	21	4232.1	RUPEES FOUR THOUSAND TWO HUNDRED THIRTY TWO AND TEN PAISE ONLY	88874.1
4	Brick work with Fly Ash Bricks in cement mortar (1:6) in F&P of size 9"x5"x3" having crushing strength not less than 70 kg/cm sq. with dimensional tolerence <u>+</u> 8 percent including splays cuttting circular moulding chamfering and corbelling and similar such type of works with al necessary projections wateing and curring after immersing the bricks in water at least for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	1	4068.4	RUPEES FOUR THOUSAND SIXTY EIGHT AND FOURTY PAISE ONLY	64117.98

1			I	1	1	
5	Brick work with Fly Ash Bricks in cement mortar (1:6) in Superstructure of size 9"x5"x3" having crushing strength not less than 75 kg/cm sq. with dimensional tolerance <u>+</u> 8 percent including splays cutting circular moulding chamfering and corbelling and similar such type of works with all necessary projections watering and curring after immersing the bricks in water atleast for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	60.34	4106.3	RUPEES FOUR THOUSAND ONE HUNDRED SIX AND THIRTY PAISE ONLY	247774.
6	RCC M-20 work with cement concrete with crushed granite 20mm down grade course aggreate of approved quality mixing by concrete mixer including hoisting, lowering and laying the concrete in position to proper slope and level and compacting by vibratorsnin layers not exceeding 0.15m depth including watering, curing for required period 28 days, centering & shuttering and finishing exposed surface smooth providing grooves wherever necessary including cost, conveyance, royality & other taxes of all materials labour, T&P materials required for this item including hier & running charges of the machinaries complete as derected by the Engineer-in- charge.	One Cubic Meter				
а	Column Base	One Cubic Meter	12.82	4739.7	RUPEES FOUR THOUSAND SEVEN HUNDRED THIRTY NINE AND SEVENTY PAISE ONLY	60762.95
Ь	Column in Superstructure	One Cubic Meter	5.69	10137.1	RUPEES TEN THOUSAND ONE HUNDRED THIRTY SEVEN AND TEN PAISE	57679.99
c	Plinth Beam	One Cubic Meter	9.31	4864.6	RUPEES FOUR THOUSAND EIGHT HUNDRED SIXTY FOUR AND SIXTY PAISE ONLY	45289.61
d	Beam	One Cubic Meter	3.07	10137.1	RUPEES TEN THOUSAND ONE HUNDRED THIRTY SEVEN AND TEN PAISE	31120.84

.....

. ′

persis-

	Lintal Band	One Cubic Meter	2.7	8070.6	RUPEES EIGHT THOUSAND SENVENTY AND SIXTY PAISE ONLY	21790
f	Chhaja	One Cubic Meter	17.84	732.44	RUPEES SEVEN HUNDRED THIRTY TWO AND FOURTY FOUR PAISE ONLY	۱ 13066.
g	Slab	One Cubic Meter	10.97	8643.2	RUPEES EIGHT THOUSAND SIX HUNDRED FOURTY THREE AND TWENTY PAISE ONLY	94816.1
7	Straightening bent up or coild M.S. rod or HYSD (Fe- 415), cutting, bending, cracking, hooking, welding or jointing (if required), the M.S. rod or HYSD steel & binding, tying the grills, hoisting, lowering & placing in proper position as required for RCC works including cost, conveyance and taxes of M.S. rod or HYSD steel & binding wires of 18 to 20 gauge & labour charges required for the work etc. complete.	One Quintal	30.74	6175.8	RUPEES SIX THOUSAND ONE HUNDRED SEVENTY FIVE AND EIGHTY PAISE ONLY	189844.
8	16mm (5/8") thick cement plaster (1:6) finshing smooth to inside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveyance, royalities & taxes of all materials & cost all labour charges required for the work etc. complete.	One Square Meter	318.2	183.4	RUPEES ONE HUNDRED EIGHTY THREE AND FOURTY PAISE ONLY	58357.8
9	12mm thick cement plaster (1:6) finishing smooth to outside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveynce, royalities & taxes of all materials & cost of all labour charges required for the work etc. complete.	One Square Meter	323.71	128.4	RUPEES ONE HUNDRED TWENTY EIGHT AND FOURTY PAISE ONLY	41564.36
10	6mm thick cement plaster in cement mortar (1:4) to RCC surface finished smoth including deep chipping & slury treatment including punning including cost, conveyance & royality of materials.	One Square Meter	104.29	144.2	RUPEES ONE HUNDRED FOURTY FOUR AND TWENTY PAISE ONLY	15038.62

....

BDO

1000

I						
11	2.5 cm artificial stone flooring with cement concrete (1:2:4) including punning using 12mm size hand broken granites chips.	One Square Meter	65.89	288.9	RUPEES TWO HUNDRED EIGHTY EIGHT AND NINTY PAISE ONLY	19035.62
12	Fixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	6.91	1051.2	RUPEES ONE THOUSAND FIFTY ONE AND TWENTY PAISE ONLY	7263.792
13	Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	25.89	677.2	RUPEES SIX HUNDRED SEVENTY SEVEN AND TWENTY PAISE ONY	17532.71
14	Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 14SWG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the work.	One Kilogram	1196.2	86.3	RUPEES EIGHTY SIX AND THIRTY PAISE ONLY	103232.1
15	Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all labour charges	One Square Meter	61.03	180	RUPEES ONE HUNDRED EIGHTY ONLY	10985.4
16	Finishing walls with water proofing cement painting to exterior surface of wall with approved shade with two coats to give an even shade including cost of paint & cost of all labour with T&P.	One Square Meter	150.51	31.4	RUPEES THIRTY ONE AND FOURTY PAISE ONLY	4726.014

BDe

17	Provision of Sanitary works.	No. of Building	1	10000	RUPEES TEN THOUSAND ONLY	10000
18	Electification	No. of Building	1			31690
19	Wall painting & Play Equipment					42593
	GST 12% as Admissable					•
	(Item 19 Only)				Total	130606

% (both in fig and words)

Block Development Officer,

Rasgobindpur

Mγ/	our	quoted	rate	is
-----	-----	--------	------	----

excess over / less than / equal to the above estimated cost.

NOTES :

1. The Contractor should not write any thing excepting quoting of percentage & in case anything else regarding

2. Strike out which is not applicable

3. Percentage should be quoted up to 2 (two) digits after the decimal point.

4. Rate of all items are inclusive of cost, carriage, royality & other taxes of material.

Tenderer

No. of Correction :
No. of over writing :
No. of interpolation :





GOVERNMENT OF ODISHA

PANCHAYATI RAJ & DRINKING WATER DEPARTMENT

DETAILED TENDER CALL NOTICE FOR THE WORK : Construction of New Model AWC Building at Devesole-2 under Devesole G.P.

PANCHAYAT SAMITI; RASGOBINDPUR.

Page | 1

OFFICE OF THE PANCHAYAT SAMITI ,RASGOBINDPUR,DIST-MAYURBHANJ

No.1909

Date:-11.06.2021

TENDER CALL NOTICE

ANNEXURE- 'A'

The Block Devlopment Officer, Rasgobindpur on behalf of Goverment of Odisha invites sealed tender on percentage (%) rate basis from registered contractors of Odisha PWD/WR/RWD/NH/MI/CPWD for thefollowing work in conformity with the detail tender call notice.

SI No	Name of G.P	Name of Work	Name of Scheme	Estimated amount put to tender (In Rs).	EMD to be deposited (In Rs)	Cost of Tender Paper (In Rs)	Class of Contractors	Period of Completion
1	Nakichua	Const. of New Model AWC Building at Raisole under Nakichua GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
2	Sarumola	Const. of New Model AWC Building at Sarumola-2 under Sarumola GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
3	Devsole	Const. of New Model AWC Building at Devsole-2 under Devsole GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
. 4	Kamardiha	Const. of New Model AWC Building at Baunstofa under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
	Kamardiha	Const. of New Model AWC Building at Uperpurunapani under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months

Terms & Conditions

- 1 The tender paper can be obtained from website www.mayurbhanj.nic. & in the Block Devlopment Officer Rasgobindpur on payment of Cost of the tender paper (non refundable)and GST in shape of A/C Payee Demand Draft respectively
- 2 The tender paper will be sold from date 11.06.2021 to 01.07.2021 on working days only from 11.00 AM to 4.00 PM in the Office of The Panchyat Samiti,Rasgovindpur.
- 3 The sealed tender paper will be received on working days till 1.00 PM of date 01.07.2021. The same should be submitted either through registered /speed post addressing to The BDO, Rasgobindpur or same may be dropped in the tender box kept in the Block office Rasgobindpur during working hour. The sealed envelope shall be superscribed as "Tender Paper" and mention the name of the work on the envelop with name of the bidder clearly. The undersigned will not be held responsible for any delay in the postal service.
- 4 The tender paper will be opened at 03 PM on 01.07.2021 in presence of the bidders or their authorised representatives and Block tender comittee.
- 5 The EMD is to be deposited in shape of NSC/KVP/POTD/deposit of any Nationalise Bank duly pledged in favour of the Block Devlopment Officer. Rasgobindpur.
- 6 The following documents should be furnished along with the tender paper failing which the tender is liable for rejection.
 - a. EMD duly pledged in favour of the BDO, Rasgobindpur.
 - b. Attested copy of the Contractor registration certificate.

c. Attested copy of PAN CARD.

- d .Attested copy of labour licence
- e. Attested copy of GST Clearence certificate for th year 2020-21.
- f. Money receipt of DTCN (Tender Paper) shall be enclosed in original.
- g. Attested copy of Caste certificate for SC/ST Contractor desirous of availling preference.

KTO

. Ju

h.The Engineering Contractor desirous of availling exemption of EMD should submit an affidavit to the effect that he has not availed exemption of EMD facility more than three times in the curront Financial Year.

The Schedule caste/Schedule Tribe/Physically challanged Contractors desirous to avail the exemption of EMD and price (preference (as applicable), should mention this in the Affidavit.

- 8 If the less rate quoted by the tenderer is more than 10% and within 15% the additional performance security is to be deposited in shape of NSC/KVP/Bank Draft /banker Cheque which are duly pledged in favour of The BDO,Rasgobindpur at the time of dropping of tender paper as per revised codal provision i.e.Amended 2013(Vide O.M.12366/W,dated 08/11/2013)of OPWD code modified vide office Memorandum No. 5288/W,dated 04/05/2016 of The Govt. in Works Department.
- 9 The EMD amount will be forfeited if the Tenderer backs out from the offer of acceptance of Tender by the Competent authority
- 10 The bidder has to produce all required original documents at the time of opening of the tender for verification.
- 11 The Contractor must have executed similar nature of works and financial turn over in last three years. The tenderers are required to submit the list of T&P possessed, list of works executed and successfully completed the Civil works during last three years. The above information should be certified by the concerned authority not below the rank of BDO/Executive Engineer.
- 12 An affidavit in support of the authority of document including no relation certificate and detail work programe should be attached with the tender paper.
- 13 If the rate quoted byThe Tenderers is found to be same. Tender Comittee will decide the Tender.
- 14 Excess bid amount quoted by the bidder , if any, in respect of any work shall not be accepted.
- 15 Any less rate quoted by the tenderer shall be deposited in shape of NSC/KVP/Bank Draft/Bankers Cheque which are duly pledged in favaour of BDO Rasgovindpur at the time of dropping of the Tender Paper
- 16 The authority deserves all right to reject or cancel any or all Tender without assigning any reason thereof.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1910 / Dt-11.06.2021

Copy submitted to the Collector & District Magistrate, Mayurbhanj / Project Director ,DRDA,Mayurbhanj for favour of kind information and necessary action.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1911 / Dt-11.06.2021

Copy submitted to the Sub-Collector, Baripada,/Kaptipada Udala/Panchpir Karanjia/Bamanghaty Rairangpur/ P.A., ITDA, Baripada/ Udala/Karanjia/Rairangpur /Tahasildar, Rasgobindpur / C.D.P.O. Rasgobindpur for information with request to display the tender notice in their notice board for wide circulation.

> Block Devlopment Officer Rasgobindpur Block

Memo No- 1912 / Dt-11.06.2021

Copy to Office Notice Board for information of all concerned. Copy to press for wide publication.

Block Devlopment Officer Rasgobindpur Block

BILL OF QUANTITY

Name of Work:

Const. of New Model AWC at Devsole-2 under Devsole G.P.

, ,

SI. No	Description of items	Unit	Quantit Y	Rate		Amount
	2		4	5		6
1	2 Earthwork in excavation in hard soil or gravelly soil except sheet rock requiring blasting to proper profile with all leads, lifts and delifts to proper section and required depth and masking it fit for laying concrete and depositig the excavated materials away from the work site with all leads and lifts including dewatering if necessary from foundation complete as derected by Engineer-in-charge.	3 One Cubic Meter	87.7	176.83	RUPEES ONE HUNDRED SEVENTY SIX AND EIGHTY THREE ONLY	15507.99
2	Filling in foundation and plinth with sand, watered and rammed including cost, conveyance & royality of materials with labour and T&P required for the work	One Cubic Meter	42.42	315.79	RUPEES THREE HUNDRED FIFTEENAND SEVENTY NINE PAISE ONLY	13395.81
3	Cement concrete of proportion (1:3:6) with 40mm & down graded size hand broken H.G. metal for foundation concrete approved quarry including hoisting, lowering & laying concrete to the required level ramming, watering, curing etc. complete including cost, conveyance & royality of materials with labour charges etc. compete in all respect.	One Cubic Meter	21	4232.1	RUPEES FOUR THOUSAND TWO HUNDRED THIRTY TWO AND TEN PAISE ONLY	88874.1
4	Brick work with Fly Ash Bricks in cement mortar (1:6) in F&P of size 9"x5"x3" having crushing strength not less than 70 kg/cm sq. with dimensional tolerence <u>+</u> 8 percent including splays cutting circular moulding chamfering and corbelling and similar such type of works with al necessary projections wateing and curring after immersing the bricks in water at least for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	15.76	4068.4	RUPEES FOUR THOUSAND SIXTY EIGHT AND FOURTY PAISE ONLY	64117.98

BDC

ľ	Beam	One Cubic Meter	3.07	10137.0 8	RUPEES TEN THOUSAND ONE HUNDRED THIRTY	31120.84
	Plinth Beam	One Cubic Meter	9.31	4864.62	RUPEES FOUR THOUSAND EIGHT HUNDRED SIXTY FOUR AND SIXTY TWO PAISE ONLY	45289.61
	Column in Superstructure	One Cubic Meter	5.69	10137.0 8	RUPEES TEN THOUSAND ONE HUNDRED THIRTY SEVEN AND EIGHT PAISE ONLY	57679.99
а	Column Base	One Cubic Meter	12.82	4739.7	RUPEES FOUR THOUSAND SEVEN HUNDRED THIRTY NINE AND SEVENTY PAISE ONLY	60762.95
6	RCC M-20 work with cement concrete with crushed granite 20mm down grade course aggreate of approved quality mixing by concrete mixer including hoisting, lowering and laying the concrete in position to proper slope and level and compacting by vibratorsnin layers not exceeding 0.15m depth including watering, curing for required period 28 days, centering & shuttering and finishing exposed surface smooth providing grooves wherever necessary including cost, conveyance, royality & other taxes of all materials labour, T&P materials required for this item including hier & running charges of the machinaries complete as derected by the Engineer- in-charge.	One Cubic Meter				
5	cement mortar (1:6) in Superstructure of size 9"x5"x3" having crushing strength not less than 75 kg/cm sq. with dimensional tolerance <u>+</u> 8 percent including splays cutting circular moulding chamfering and corbelling and similar such type of works with all necessary projections watering and curring after immersing the bricks in water atleast for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	60.34	4106.3	RUPEES FOUR THOUSAND ONE HUNDRED SIX AND THIRTY PAISE ONLY	247774.1

1 marsh

W

					SEVEN AND EIGHT PAISE ONLY	
е	Lintal Band	One Cubic Meter	2.7	8070.64	RUPEES EIGHT THOUSAND SENVENTY AND SIXTY FOUR PAISE ONLY	21790.7
f	Chhaja	One Cubic Meter	17.84	732.44	RUPEES SEVEN HUNDRED THIRTY TWO AND FOURTY FOUR PAISE ONLY	13066.7
g	Slab	One Cubic Meter	10.97	8643.22	RUPEES EIGHT THOUSAND SIX HUNDRED FOURTY THREE AND TWENTY TWO PAISE ONLY	94816.12
7	the noncele complete.	One Quintal	30.74	6175.82	RUPEES SIX THOUSAND ONE HUNDRED SEVENTY FIVE AND EIGHTY TWO PAISE ONLY	189844.7
8	16mm (5/8") thick cement plaster (1:6) finshing smooth to inside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveyance, royalitles & taxes of all materials & cost all labour charges required for the work etc. complete.	One Square Meter	318.2	183.4	RUPEES ONE HUNDRED EIGHTY THREE AND FOURTY PAISE ONLY	58357.8
9	12mm thick cement plaster (1:6) finishing smooth to outside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveynce, royalities & taxes of all materials & cost of all labour charges required for the work etc. complete.	One Square Meter	323.71	128.4	RUPEES ONE HUNDRED TWENTY EIGHT AND FOURTY PAISE ONLY	41564.3
10	6mm thick cement plaster in cement mortar (1:4) to RCC surface finished smoth including deep chipping & slury treatment including punning including	One Square Meter	104.29	144.2	RUPEES ONE HUNDRED FOURTY FOUR AND TWENTY PAISE ONLY	15038.6

2

	cost, conveyance & royality of					
	materials.					
11	2.5 cm artificial stone flooring with cement concrete (1:2:4) including punning using 12mm size hand broken granites chips.	One Square Meter	65.89	288.9	RUPEES TWO HUNDRED EIGHTY EIGHT AND NINTY PAISE ONLY	19035.62
12	Fixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing &	One Square Meter	6.91	1051.2	RUPEES ONE THOUSAND FIFTY ONE AND TWENTY PAISE ONLY	7263.792
13	Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing &	One Square Meter	25.89	677.2	RUPEES SIX HUNDRED SEVENTY SEVEN AND TWENTY PAISE ONY	17532.71
13	Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 14SWG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the	One Kilogra m	1196.2	86.3	RUPEES EIGHTY SIX AND THIRTY PAISE ONLY	103232.1 :
15	Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all labour charges	One Square Meter	61.03	180	RUPEES ONE HUNDRED EIGHTY ONLY	10985.4
6	Finishing walls with water proofing cement painting to exterior surface of wall with approved shade with two coats to give an even shade including cost of paint & cost of all labour with T&P.	One Square Meter	150.51	31.4	RUPEES THIRTY ONE AND FOURTY PAISE ONLY	4726.014



17	Provision of Sanitary works.	No. of Building	1	10000	RUPEES TEN THOUSAND ONLY	10000
18	Electification	No. of Building	1			31690
19	Wall painting & Play Equipment					42593
	GST 12% as Admissable					1306061
	(Item 19 Only)				Total	

Block Development Officer, Rasgobindpur

% (both in fig and words) My / our quoted rate is excess over / less than / equal to the above estimated cost. NOTES : 1. The Contractor should not write any thing excepting quoting of percentage & in case anything else regarding 2. Strike out which is not applicable 3. Percentage should be quoted up to 2 (two) digits after the decimal point. 4. Rate of all items are inclusive of cost, carriage, royality & other taxes of material. Tenderer No. of Correction : No. of over writing : No. of interpolation :

BOO

ι

;

1

.....





GOVERNMENT OF ODISHA

PANCHAYATI RAJ & DRINKING WATER DEPARTMENT

DETAILED TENDER CALL NOTICE FOR THE WORK : Construction of New Model AWC Building at Sarumula-2 under Sarumula G.P.

PANCHAYAT SAMITI; RASGOBINDPUR.

Page | 1

Contractor

OFFICE OF THE PANCHAYAT SAMITI, RASGOBINDPUR, DIST-MAYURBHANJ

No.1909

Date:-11.06.2021

TENDER CALL NOTICE

ANNEXURE- 'A'

The Block Devlopment Officer, Rasgobindpur on behalf of Goverment of Odisha invites sealed tender on percentage (%) rate basis from registered contractors of Odisha PWD/WR/RWD/NH/MI/CPWD for thefollowing work in conformity with the detail tender call notice.

								and a second sec
SI No	Name of G.P	Name of Work	Name of Scheme	Estimated amount put to tender (In Rs).	EMD to be deposited (In Rs)	Cost of Tender Paper (In Rs)	Class of Contractors	Period of Completion
1	Nakichua	Const. of New Model AWC Building at Raisole under Nakichua GP	OMBADC	1334503.00		5000+900	"C" & "D"	3 Months
2	Sarumola	Const. of New Model AWC Building at Sarumola-2 under Sarumola GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
3	Devsole	Const. of New Model AWC Building at Devsole-2 under Devsole GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
4	Kamardiha	Const. of New Model AWC Building at Baunstofa under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
	Kamardiha	Const. of New Model AWC Building at Uperpurunapani under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months

Terms & Conditions

- 1 The tender paper can be obtained from website www.mayurbhanj.nic. & in the Block Devlopment Officer Rasgobindpur on payment of Cost of the tender paper (non refundable)and GST in shape of A/C Payee Demand Draft respectively
- 2 The tender paper will be sold from date 11.06.2021 to 01.07.2021 on working days only from 11.00 AM to 4.00 PM in the Office of The Panchyat Samiti,Rasgovindpur.
- 3 The sealed tender paper will be received on working days till 1.00 PM of date 01.07.2021. The same should be submitted either through registered /speed post addressing to The BDO, Rasgobindpur or same may be dropped in the tender box kept in the Block office Rasgobindpur during working hour. The sealed envelope shall be superscribed as "Tender Paper" and mention the name of the work on the envelop with name of the bidder clearly. The undersigned will not be held responsible for any delay in the postal service.
- 4 The tender paper will be opened at 03 PM on 01.07.2021 in presence of the bidders or their authorised representatives and Block tender comittee.
- 5 The EMD is to be deposited in shape of NSC/KVP/POTD/deposit of any Nationalise Bank duly pledged in favour of the Block Devlopment Officer Rasgobindpur.
- 6 The following documents should be furnished along with the tender paper failing which the tender is liable for rejection.
 - a. EMD duly pledged in favour of the BDO, Rasgobindpur.
 - b. Attested copy of the Contractor registration certificate.
 - c. Attested copy of PAN CARD
 - d .Attested copy of labour licence
 - e. Attested copy of GST Clearence certificate for th year 2020-21.
 - f Money receipt of DTCN (Tender Paper) shall be enclosed in original.
 - g. Attested copy of Caste certificate for SC/ST Contractor desirous of availling preference.

KTO

Ju

h.The Engineering Contractor desirous of availling exemption of EMD should submit an affidavit to the effect that he has not availed exemption of EMD facility more than three times in the current Financial Year.

The Schedule caste/Schedule Tribe/Physically challanged Contractors desirous to avail the exemption of EMD and price preference (as applicable) ,should mention this in the Affidavit.

8 If the less rate quoted by the tenderer is more than 10% and within 15% the additional performance security is to be deposited in shape of NSC/KVP/Bank Draft /banker Cheque which are duly pledged in favour of The BDO,Rasgobindpur at the time of dropping of tender paper as per revised codal provision i.e.Amended 2013(Vide O.M.12366/W,dated 08/11/2013)of OPWD code modified vide office Memorandum No. 5288/W,dated 04/05/2016 of The Govt. in Works Department.

9 The EMD amount will be forfeited if the Tenderer backs out from the offer of acceptance of Tender by the Competent authority

10 The bidder has to produce all required original documents at the time of opening of the tender for verification.

11 The Contractor must have executed similar nature of works and financial turn over in last three years. The tenderers are required to submit the list of T&P possessed, list of works executed and successfully completed the Civil works during last three years. The above information should be certified by the concerned authority not below the rank of BDO/Executive Engineer.

12 An affidavit in support of the authority of document including no relation certificate and detail work programe should be attached with the tender paper.

13 If the rate quoted byThe Tenderers is found to be same. Tender Comittee will decide the Tender.

14 Excess bid amount quoted by the bidder , if any, in respect of any work shall not be accepted.

- 15 Any less rate quoted by the tenderer shall be deposited in shape of NSC/KVP/Bank Draft/Bankers Cheque which are duly pledged in favaour of BDO Rasgovindpur at the time of dropping of the Tender Paper
- 16 The authority deserves all right to reject or cancel any or all Tender without assigning any reason thereof.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1910 / Dt-11.06.2021

Copy submitted to the Collector & District Magistrate. Mayurbhanj / Project Director ,DRDA,Mayurbhanj for favour of kind information and necessary action.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1911 / Dt-11.06.2021

Copy submitted:to the Sub-Collector, Baripada,/Kaptipada Udala/Panchpir Karanjia/Bamanghaty Rairangpur/ P.A. ITDA . Baripada/ Udala/Karanjia/Rairangpur /Tahasildar, Rasgobindpur / C.D.P.O. Rasgobindpur for information with request to display the tender notice in their notice board for wide circulation.

> Block Devlopment Officer Rasgobindpur Block

Memo No- 1912 / Dt-11.06.2021

Copy to Office Notice Board for information of all concerned Copy to press for wide publication.

Block Devlopment Officer Rasgobindpur Block

BILL OF QUANTITY

Name of Work:

Const. of New Model AWC at Sarumula-2 under Sarumula G.P.

SI.			1			1
10	Description of items	Unlt	Quantity	Rate		Amour
-	Eperhund i	3	4	5		6
1	Earthwork in excavation in hard soil or gravelly soil except sheet rock requiring blasting to proper profile with all leads, lifts and delifts to proper section and required depth and masking it fit for laying concrete and depositig the excavated materials away from the work site with all leads and lifts including dewatering if necessary from foundation complete as derected by Engineer-in-charge.	One Cubic Meter	63.71	182.77	RUPEES ONE HUNDRED EIGHTYTWO AND SEVENTYSEVEN PAISE ONLY	11644.08
2	Filling in foundation and plinth with sand, watered and rammed including cost, conveyance & royality of materials with labour and T&P required for the work	One Cubic Meter	90.40	317.21	RUPEES THREE HUNDRED SEVENTEEN AND TWENTY ONE PAISE ONLY	28677.29
3	Cement concrete of proportion (1:3:6) with 40mm & down graded size hand broken H.G. metal for foundation concrete approved quarry including hoisting, lowering & laying concrete to the required level ramming, watering , curing etc. complete including cost, conveyance & royality of materials with labour charges etc. compete in all respect.	One Cubic Meter	17.65	4279.00	RUPEES FOUR THOUSAND TWO HUNDRED SEVENTYNINE ONLY	75511.08
4	Brick work with Fly Ash Bricks in cement mortar (1:6) in F&P of size 9"x5"x3" having crushing strength not less than 70 kg/cm sq. with dimensional tolerence <u>+</u> 8 percent including splays cuttting circular moulding chamfering and corbelling and similar such type of works with al necessary projections wateing and curring after immersing the bricks in water at least for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	32.49	4114.10	RUPEES FOUR THOUSAND ONE HUNDRED FORTEEN AND TEN PAISE ONLY	133657.72
5	Brick work with Fly Ash Bricks in cement mortar (1:6) in Superstructure of size 9"x5"x3" having crushing strength not less than 75 kg/cm sq. with dimensional tolerance ± 8 percent including splays cutting circular moulding chamfering and corbelling and similar such type of works with all necessary projections watering and curring after immersing the bricks in water atleast for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	48.86	4152.02	RUPEES FOUR THOUSAND ONE HUNDRED FIFTY TWO AND TWO PAISE ONLY	202875.52

₿Ó0

6	RCC M-20 work with cement concrete with crushed granite 20mm down grade course aggreate of approved quality mixing by concrete mixer including hoisting, lowering and laying the concrete in position to proper slope and level and compacting by vibratorsnin layers not exceeding 0.1Sm depth including watering, curing for required period 28 days, centering & shuttering and finishing exposed surface smooth providing grooves wherever necessary including cost, conveyance, royality & other taxes of all materials labour, T&P materials required for this item including hier & running charges of the machinaries complete as derected by the Engineer-in-charge.	One Cubic Meter				
a	Column Base	One Cubic Meter	11.99	4758.56	RUPEES FOUR THOUSAND SEVEN HUNDRED FIFTYEIGHT AND FIFTY SIX PAISE ONLY	57073.70
Ь	Column in Superstructure	One Cubic Meter	4.85	10274.70	RUPEES TEN THOUSAND TWO HUNDRED SEVENTY FOUR AND SEVENTY PAISE ONLY	49878.24
C.	Plinth Beam	One Cubic Meter	7.28	4864.62	RUPEES FOUR THOUSAND EIGHT HUNDRED SIXTY FOUR AND SIXTY TWO PAISE ONLY	35414.00
d	Beam	One Cubic Meter	3.07	10274.70	RUPEES TEN THOUSAND TWO HUNDRED SEVENTY FOUR AND SEVENTY PAISE ONLY	31516.91
	Lintel Band	One Cubic Meter	2.7	8139.44	RUPEES EIGHT THOUSAND ONE HUNDRED THIRTYNINE AND FORTY FOUR PAISE ONLY	21938.74

BDØ

2						1
f	Chhaja	One Cubic Meter	17.84	741.24	RUPEES SEVEN HUNDRED FORTYONE AND TWENTY FOUR PAISE ONLY	13220.36
g	Slab	One Cubic Meter	13.41	8730.66	RUPEES EIGHT THOUSAND SEVEN HUNDRED THIRTY AND SIXTY SIX PAISE ONLY	117062.86
7	Straightening bent up or coild M.S. rod or HYSD (Fe- 415), cutting, bending, cracking, hooking, welding or jointing (if required), the M.S. rod or HYSD steel & binding, tying the grills, hoisting, lowering & placing in proper position as required for RCC works including cost, conveyance and taxes of M.S. rod or HYSD steel & binding wires of 18 to 20 gauge & labour charges required for the work etc. complete.	One Quintal	29.11	6188.97	RUPEES SIX THOUSAND ONE HUNDRED EIGHTY EIGHT AND NINTY SEVEN PAISE ONLY	180133.50
8	16mm (5/8") thick cement plaster (1:6) finshing smooth to inside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveyance, royalities & taxes of all materials & cost all labour charges required for the work etc. complete.	One Square Meter	278.16	188.00	RUPEES ONE HUNDRED EIGHTY EIGHT ONLY	52294.43
9	12mm thick cement plaster (1:6) finishing smooth to outside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveynce, royalities & taxes of all materials & cost of all labour charges required for the work etc. complete.	One Square Meter	232.22	131.40	RUPEES ONE HUNDRED THRTY ONE AND FOURTY PAISE ONLY	30513.99
10	6mm thick cement plaster in cement mortar (1:4) to RCC surface finished smoth including deep chipping & slury treatment including punning including cost, conveyance & royality of materials.	One Square Meter	104.29	147.80	RUPEES ONE HUNDRED FORTY SEVEN AND EIGHTY PAISE ONLY	15413.80

BDO

2.5 cm artificial stone flooring with cement concrete (1:2:4) including punning using 12mm size hand broken granites chips.	One Square Meter	65.89	294.60	RUPEES TWO HUNDRED NINTY FOUR AND SIXTY PAISE ONLY	19411.82
Fixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) Joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	6.91	1051.2	RUPEES ONE THOUSAND FIFTY ONE AND TWENTY PAISE ONLY	7263.69
Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	25.89	677.2	RUPEES SIX HUNDRED SEVENTY SEVEN AND TWENTY PAISE ONY	17530.40
Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 14SWG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour	One Kilogram	1178.00	86.3	RUPEES EIGHTY SIX AND THIRTY PAISE ONLY	101661.40
Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all labour charges	One Square Meter	54.88	184.10	RUPEES ONE HUNDRED EIGHTY FOUR AND TEN PAISE ONLY	10287.51
Finishing walls with water proofing cement painting	One Square Meter	165.37	32.00	RUPEES THIRTY TWO ONLY	5291.88
	broken granites chips. Exing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) Joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile. Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile. Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 14SWG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the work. Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance,	broken granites chips.Square MeterFixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) Joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.One Square MeterFixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.One Square MeterSuppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 14SWG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the work.One Square MeterPainting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all labour chargesOne Square MeterFinishing walls with water proofing cement painting to exterior surface of wall with approved shade with to exterior surface of wall with appr	broken granites chips.Soling 12mm size handSquare Meter65.89 MeterFixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) Joined with neat cement slurry mixed with pigment to match the shade of the tile.One Square Meter6.91Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) Joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.One Square Meter25.89Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the work.One Square square to 24.881178.00Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all labour chargesOne Square Square Meter54.88Finishing walls with water proofing cement painting to exterior surface of wall with approved shade with to	broken granites chips.Soling 12mm size handSquare Meter63.89254.00Fixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) joined with neat cement tiles including rubbing & polishing including cost ofOne Square Meter6.911051.2Fixing tiles in dados, skirting & In rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.One Square Meter25.89677.2Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte gange is clubing subling solubing explosing including cost of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all materials with all labour charges for the work.One 	broken granites chips. Square Square 65.89 25.00 AND SIXTY Fixing tiles in floors, treads & landings on 25 mm thick bed of cement motrar (1:1) joined with neat cement tiles including rubbing & polishing including cost of tile. One Square 6.91 1051.2 RUPEES ONE THOUSAND Fixing tiles in dados, skirting & in rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slumy mixed with pigment to match the shade of the tiles including rubbing publing, rubbing publing, fitting & fixing steel angle iron door & Weter One Square 25.89 677.2 RUPEES SIX HUNDRED SEVENTY PAISE ONLY Suppling, fitting & fixing steel angle iron door & window with with steel angle iron door & window with with water provide a date with figure with wa

BDO

	GST 12% as Admissable				Total	1334502.98
19	Wall painting & Play Equipment			43455.00	FORTYTHREE THOUSAND FOUR HUNDRED FIFTYFIVE ONLY.	43455.00
18	Electification	No. of Building	1	31690.00	RUPEES THIRTY ONE THOUSAND SIX HUNDRED NINTY ONLY.	31690.00
17	Provision of Sanitary works.	No. of Building	1	41085.00	RUPEES FORTY ONE THOUSAND EIGHTYFIVE ONLY	41085.00

Block Development Officer, Rasgobindpur

My / our quoted rate is

% (both in fig and words)

excess over / less than / equal to the above estimated cost.

NOTES :

3

1. The Contractor should not write any thing excepting quoting of percentage & in case anything else regarding

2. Strike out which is not applicable

3. Percentage should be quoted up to 2 (two) digits after the decimal point.

4. Rate of all items are inclusive of cost, carriage, royality & other taxes of material.

Tenderer

No. of Correction :
No. of over writing :
No. of interpolation :

BDO





GOVERNMENT OF ODISHA

PANCHAYATI RAJ & DRINKING WATER DEPARTMENT

DETAILED TENDER CALL NOTICE FOR THE WORK : Construction of New Model AWC Building at Raisole under Nakichua G.P.

PANCHAYAT SAMITI; RASGOBINDPUR.



OFFICE OF THE PANCHAYAT SAMITI ,RASGOBINDPUR,DIST-MAYURBHANJ

No.1909

Date:-11.06.2021

TENDER CALL NOTICE

ANNEXURE- 'A'

The Block Devlopment Officer. Rasgobindpur on behalf of Goverment of Odisha invites sealed tender on percentage (%) rate basis from registered contractors of Odisha PWD/WR/RWD/NH/MI/CPWD for thefollowing work in conformity with the detail tender call notice.

	the second s							
SI No	Name of G.P	Name of Work	Name of Scheme	Estimated amount put to tender (In Rs)	EMD to be deposited (In Rs)	Cost of Tender Paper (In Rs)	Class of Contractors	Period of Completion
1	Nakichua	Const. of New Model AWC Building at Raisole under Nakichua GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
2	Sarumola	Const. of New Model AWC Building at Sarumola-2 under Sarumola GP	OMBADC	1334503.00	13345.00	5000+900	"C" & "D"	3 Months
3	Devsole	Const. of New Model AWC Building at Devsole-2 under Devsole GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
4	Kamardiha	Const. of New Model AWC Building at Baunstofa under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	"C" & "D"	3 Months
5	Kamardina	Const. of New Model AWC Building at Uperpurunapani under Kamardiha GP	OMBADC	1306061.00	13061.00	5000+900	''C'' & ''D''	3 Months

Terms & Conditions

1 The tender paper can be obtained from website www.mayurbhanj.nic. & in the Block Devlopment Officer Rasgobindpur on payment of Cost of the tender paper (non refundable)and GST in shape of A/C Payee Demand Draft respectively

- 2 The tender paper will be sold from date 11.06.2021 to 01.07.2021 on working days only from 11.00 AM to 4.00 PM in the Office of The Panchyat Samiti,Rasgovindpur.
- 3 The sealed tender paper will be received on working days till 1.00 PM of date 01.07.2021. The same should be submitted either through registered /speed post addressing to The BDO, Rasgobindpur or same may be dropped in the tender box kept in the Block office Rasgobindpur during working hour. The sealed envelope shall be superscribed as "Tender Paper" and mention the name of the work on the envelop with name of the bidder clearly. The undersigned will not be held responsible for any delay in the postal service.
- 4 The tender paper will be opened at 03 PM on 01.07.2021 in presence of the bidders or their authorised representatives and Block tender comittee.
- 5 The EMD is to be deposited in shape of NSC/KVP/POTD/deposit of any Nationalise Bank duly pledged in favour of the Block Devlopment Officer Rasgobindpur.
- 6 The following documents should be furnished along with the tender paper failing which the tender is liable for rejection.

a EMD duly pledged in favour of the BDO,Rasgobindpur.

- b. Attested copy of the Contractor registration certificate.
- c. Attested copy of PAN CARD
- d .Attested copy of labour licence
- e. Attested copy of GST Clearence certificate for thiyear 2020-21.
- f. Money receipt of DTCN (Tender Paper) shall be enclosed in original.
- g. Attested copy of Caste certificate for SC/ST Contractor desirous of availling preference.

KTO

h.The Engineering Contractor desirous of availling exemption of EMD should submit an affidavit to the effect that he has not availed exemption of EMD facility more than three times in the current Financial Year.

The Schedule caste/Schedule Tribe/Physically challanged Contractors desirous to avail the exemption of EMD and price (preference (as applicable), should mention this in the Affidavit.

- 8 If the less rate quoted by the tenderer is more than 10% and within 15% the additional performance security is to be deposited in shape of NSC/KVP/Bank Draft /banker Cheque which are duly pledged in favour of The BDO,Rasgobindpur at the time of dropping of tender paper as per revised codal provision i.e.Amended 2013(Vide O.M.12366/W,dated 08/11/2013)of OPWD code modified vide office Memorandum No. 5288/W,dated 04/05/2016 of The Govt. in Works Department.
- 9 The EMD amount will be forfeited if the Tenderer backs out from the offer of acceptance of Tender by the Competent authority
- 10 The bidder has to produce all required original documents at the time of opening of the tender for verification.
- 11 The Contractor must have executed similar nature of works and financial turn over in last three years. The tenderers are required to submit the list of T&P possessed, list of works executed and successfully completed the Civil works during last three years. The above information should be certified by the concerned authority not below the rank of BDO/Executive Engineer.
- 12 An affidavit in support of the authority of document including no relation certificate and detail work programe should be attached with the tender paper.
- 13 If the rate quoted byThe Tenderers is found to be same. Tender Comittee will decide the Tender.
- 14 Excess bid amount quoted by the bidder , if any, in respect of any work shall not be accepted.
- 15 Any less rate quoted by the tenderer shall be deposited in shape of NSC/KVP/Bank Draft/Bankers Cheque which are duly pledged in favaour of BDO Rasgovindpur at the time of dropping of the Tender Paper
- 16 The authority deserves all right to reject or cancel any or all Tender without assigning any reason mereof.

Block Deviopment Officer Rasgobindpur Block

Memo No- 1910 / Dt-11.06.2021

Copy submitted to the Collector & District Magistrate. Mayurbhanj / Project Director ,DRDA,Mayurbhanj for favour of kind information and necessary action.

Block Devlopment Officer Rasgobindpur Block

Memo No- 1911 / Dt-11.06.2021

Copy submitted to the Sub-Collector, Baripada,/Kaptipada Udala/Panchpir Karanjia/Bamanghaty Rairangpur/ P.A. ITDA, Baripada/ Udala/Karanjia/Rairangpur /Tahasildar, Rasgobindpur / C.D.P.O. Rasgobindpur for information with request to display the tender notice in their notice board for wide circulation.

> Block Devlopment Officer Rasgobindpur Block

Memo No- 1912 / Dt-11.06.2021

Copy to Office Notice Board for information of all concerned. Copy to press for wide publication.

Block Devlopment Office Rasgobindpur Block

BILL OF QUANTITY

Name of Work:

Const. of New Model AWC at Raisole under Nakichua G.P.

,

BDÓ

				UNDER MARK		1
SI. No	Description of items	Unit	Quantity	Rate		Amount
1	2	3	4	5		6
1	Earthwork in excavation in hard soil or gravelly soil except sheet rock requiring blasting to proper profile with all leads, lifts and delifts to proper section and required depth and masking it fit for laying concrete and depositig the excavated materials away from the work site with all leads and lifts including dewatering if necessary from foundation complete as derected by Engineer-in-charge.	One Cubic Meter	63.71	182.77	RUPEES ONE HUNDRED EIGHTY TWO AND SEVENTY SEVEN PAISE ONLY	11644.08
2	Filling in foundation and plinth with sand, watered and rammed including cost, conveyance & royality of materials with labour and T&P required for the work	One Cubic Meter	90.40	317.21	RUPEES THREE HUNDRED SEVENTEEN AND TWENTY ONE PAISE ONLY	28677.29
3	Cement concrete of proportion (1:3:6) with 40mm & down graded size hand broken H.G. metal for foundation concrete approved quarry including hoisting, lowering & laying concrete to the required level ramming, watering, curing etc. complete including cost, conveyance & royality of materials with labour charges etc. compete in all respect.	One Cubic Meter	17.65	4279.00	RUPEES FOUR THOUSAND TWO HUNDRED SEVENTY NINE ONLY	75511.08
4	Brick work with Fly Ash Bricks in cement mortar (1:6) in F&P of size 9"x5"x3" having crushing strength not less than 70 kg/cm sq. with dimensional tolerence ± 8 percent including splays cuttting circular moulding chamfering and corbelling and similar such type of works with al necessary projections wateing and curring after immersing the bricks in water at least for six hours before use including cost, conveyance & royality of materials with labour charges etc. complete in all respect.	One Cubic Meter	32.49	4114.10	RUPEES FOUR THOUSAND FOURTEEN AND TEN PAISE ONLY	; 133657.72

	rick work with Fly Ash Bricks in cement nortar (1:6) in Superstructure of size 9"x5"x3" having crushing strength not less than 75 ig/cm sq. with dimensional tolerance <u>+</u> 8 bercent including splays cutting circular moulding chamfering and corbelling and similar such type of works with all necessary projections watering and curring after immersing the bricks in water atleast for six hours before use including cost, conveyance & royality of materials with labour charges etc.	One Cubic Meter	48.86	4152.02	RUPEES FOUR THOUSAND ONE HUNDRED FIFTY TWO AND TWO PAISE ONLY	202875.52
	RCC M-20 work with cement concrete with crushed granite 20mm down grade course aggreate of approved quality mixing by concrete mixer including hoisting, lowering and laying the concrete in position to proper slope and level and compacting by vibratorsnin layers not exceeding 0.15m depth including watering, curing for required period 28 days, centering & shuttering and finishing exposed surface smooth providing grooves wherever necessary including cost, conveyance, royality & other taxes of all materials labour, T&P materials required for this item including hier & running charges of the machinaries complete as derected by the Engineer-in-charge.	One Cubic Meter			RUPEES FOUR	
3	Column Base	One Cubic Meter	11.99	4758.56	RUPEES FOOR THOUSAND SEVEN HUNDRED FIFTY EIGHTY AND FIFTY SIX PAISE ONLY	57073.76
		One Cubic Meter	4.85	10274.70	RUPEES TEN THOUSAND TWO HUNDRED SEVENTY FOUR AND SEVENTY PAISE ONLY	49878.24
b	Column in Superstructure	One Cubic Meter	7.28	4864.62	RUPEES FOUR THOUSAND EIGHT HUNDRED SIXTY FOUR AND SIXTY TWO PAISE QNLY	35414.00
	c Plinth Beam	One Cubic Meter	3.07	10274.70	RUPEES TEN THOUSAND TWO HUNDRED SEVENTY FOUR AND SEVENTY	31516.91

					PAISE	
e	Lintal Band	One Cubic Meter	2.7	8139.44	RUPEES EIGHT THOUSAND ONE HUNDRED THIRTY NINE AND FOURTY FOUR PAISE ONLY	21938.74
f	Chhaja	One Cubic Meter	17.84	741.24	RUPEES SEVEN HUNDRED FOURTY ONE AND TWENTY FOUR PAISE ONLY	13220.36
g	Slab	One Cubic Meter	13.41	8730.66	RUPEES EIGHT THOUSAND SEVEN HUNDRED THIRTY AND SIXTY SIX PAISE ONLY	117062.86
7	Straightening bent up or coild M.S. rod or HYSD (Fe-415), cutting, bending, cracking, hooking, welding or jointing (if required), the M.S. rod or HYSD steel & binding, tying the grills, hoisting, lowering & placing in proper position as required for RCC works including cost, conveyance and taxes of M.S. rod or HYSD steel & binding wires of 18 to 20 gauge & labour charges required for the work etc. complete.	One Quintal	29.11	6188.97	RUPEES SIX THOUSAND ONE HUNDRED EIGHTY EIGHT AND NINTY SEVEN PAISE ONLY	180133.50
8	16mm (5/8") thick cement plaster (1:6) finshing smooth to inside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveyance, royalities & taxes of all materials & cost all labour charges required for the work etc. complete.	One Square Meter	278.16	188.00	RUPEES ONE HUNDRED EIGHTY EIGHT ONLY	52294.43
	12mm thick cement plaster (1:6) finishing smooth to outside rough surface of 9"/10" thick brick walls after racking out the joint including watering & curing with cost, conveynce, royalities & taxes of all materials & cost of all labour charges required for the work	One Square Meter	232.22	131.40	RUPEES ONE HUNDRED THIRTY ONE AND FOURTY PAISE ONLY	30513.99
9	6 etc. complete. 6 mm thick cement plaster in cement mortar (1:4) to RCC surface finished smoth including deep chipping & slury treatment including punning including cost, conveyance & royality of materials.	One Square Meter	104.29	147.80	RUPEES ONE HUNDRED FOURTY SEVEN AND EIGHTY PAISE	15413.8

and i

á

		,		1	ONLY	
11	2.5 cm artificial stone flooring with cement concrete (1:2:4) including punning using 12mm size hand broken grapitog abi	One Square	65.89	294.60	RUPEES TWO HUNDRED NINTY FOUR AND SIXTY	19411.82
1	size hand broken granites chips. Fixing tiles in floors, treads & landings on 25 mm thick bed of cement mortar (1:1) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	Meter One Square Meter	6.91	1051.2	PAISE ONLY RUPEES ONE THOUSAND FIFTY ONE AND TWENTY PAISE ONLY	7263.69
1	Fixing tiles in dados, skirting & In rises of steps on 12mm thick bed of cement plaster (1:3) joined with neat cement slurry mixed with pigment to match the shade of the tiles including rubbing & polishing including cost of tile.	One Square Meter	25.89	677.2	RUPEES SIX HUNDRED SEVENTY SEVEN AND TWENTY PAISE ONY	17530.40
	Suppling, fitting & fixing steel angle iron door & window with steel angle iron frame manufactured from standard rolled steel angle section of 40mm x 40mm x 6mm size with corners of the frame duly mattered & electrically welded with fishtaile hold fasts made out of MS round bar to be welded at hte day with MS hinges of size 100mm 145WG thick @ 3nos. & 15mm size 1no. for single & double leaf shutter, aldrop staple & tower bolt hinges duly welded to the frame with one coat of anti corrosive red oxide zinc chrome primer including cost, conveyance, taxes of all	One Kilogram	1178	86.3	RUPEES EIGHTY SIX AND THIRTY PAISE ONLY	101661.40
14	materials with all labour charges for the work. Painting two coats with any approved synthetic enamel paint of approved quality shade & makeover a coat of priming to new wood work/iron work including cost of the primer & paint, sand papering polishing the surface fo with cost, conveyance, royality, taxes with all	One Square Meter	54.88	184.10	RUPEES ONE HUNDRED EIGHTY FOUR AND TEN PAISE ONLY	10287.51
15	labour charges Finishing walls with water proofing cement painting to exterior surface of wall with approved shade with two coats to give an even shade including cost of paint & cost of all	One Square Meter	165.37	32	RUPEES THIRTY TWO ONLY	5291.88
16	labour with T&P.	No. of Building	1	41085	RUPEES FOURTY ONE THOUSAND EIGHTY FIVE ONLY	41085.00
17	Provision of Sanitary works.	No. of Building	1	31690	THIRTY ONE THOUSAND	316

BDO

					SIX HUNDRED NINTY ONLY FOURTY	
					THREE THOUSAND FOUR	
19	Wall painting & Play Equipment	No. of Building	1	43455	FIFTY FIVE ONLY	
	GST 12% as Admissable				Total	133450

Block Development Officer, Rasgobindpur

% (both in fig and words)

My / our quoted rate is excess over / less than / equal to the above estimated cost.

NOTES :

1. The Contractor should not write any thing excepting quoting of percentage & in case anything else regarding

2. Strike out which is not applicable

3. Percentage should be quoted up to 2 (two) digits after the decimal point.

4. Rate of all items are inclusive of cost, carriage, royality & other taxes of material.

Tenderer

No. of Correction : No. of over writing : No. of interpolation :